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50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Max. Marks: 100

Note: Answer any FIVE full questtons, c%%mg ONE full question from each module.
&
1 a. Reduce the given network to. aﬁ%ggg@ voltage sources in serie with a resistance using source

LY %
) . 3

transformation for Fig. Q1 @) Y

(08 Marks)

b. Find the equlvalent resistance b%w -delta transformation

for Fig. Q1 (b).

-~ Fig. Q1 (b)) (06 Marks)
;o‘”'ﬁnd the current through in 5 Q resistant of circuit shown in

Fig.Q1 (¢) (06 Marks)

OR
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2 a i is, rrent through (2+j3)Q is zero

(06 Marks)

N@%
*m%‘ " Fig. Q2 (b)
c. Find all the node voltages for the JNetwork shown in‘

(08 Marks)

M%Fxg Q2 (©) (06 Marks)

M(fdule-Z
‘ (06 Marks)

ance in the network shown below Fig. Q3 (b) using

Fig. Q3 (b) (08 Marks)
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a
.

c. Verify the Reciprocity theorem for the circuit shown in FI%Q (c) by finding 1.

(06 Marks)

Flg.Q4 (a) between terminals A

4 a. the Network shown %

(10 Marks)

‘ Fig. Q4a)
2'Q4 (b) and determine the current

b. Obt%g Norton s Equivalent for tﬁex twork shown in

throug% 20 Q. ﬁ

CMRIT LIBRARY
RANGALORE - 560 037
(10 Marks)
5 a. Show that resonant frequ Qcy is the geometme@mean of cut-off frequencies. (08 Marks)
b. ! )"”serles RLC circuit has =10 Q, =001 H and C = 0.01 uF . Calculate Q factor,
LN 4 equency and half. power frequencies. (08 Marks)

2 }ue of Ry, and R,@ for which the circuit shown in Fig. Q5 (c) resonance at

(04 Marks)




18EE32

OR P %
6 a. Explain the behavior of R, L and C for initial condltlon% and final conditions. (07 Marks)

b. In the network shown in Fig. Q6 (b), if switch is closew, at t'= 0. Determine the current and
its first and second derivative att=0". L

(06 Marks)
C.

——:and——— att=0

y (07 Marks)
{:@w, e *
g“‘* A4 Module-4 L@@ "
7 a. Find the Laplace transform of the, B, ®
() x,(t)=coswt
(i)  x,()=u().
(i) x,(O=t
(iV) X, (t) e™ sin mt (08 Marks)
b.  Find the
(06 Marks)
)
' 7+

Fig. Q7 (¢) (06 Marks)
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OR
8 a. State and prove initial value theorem and final value theore (10 Marks)
b. Find the initial and final value of the following ﬁmctlonsw 7
. 6.67(s + 250
M =576
s(s+166.7)
. 6.67
ii L(s)=————. 10 Mark
@ LE= 667 (10 Marks)

0%_'—— (
9 a A 3 phase, 400 V, 4 wire sxgté% has a star conne éd foad with Z, =1020"Q,
Zy (15+ JIO)Q Z. =(0+]j )Q Mmd the line current and current through neutral

conductor for phase sequencerAl

CMRIT LIBRARY
BANGALORE 560 037

(10 Marks)
(10 Marks)

- 7 FigQ@ .\
erms of ABCD paranieters

s W
|

@3 o -

10

. “Fig. Q10 (a) (10 Marks)

b. The impedance parameters of a 2port network are Zi; = 6 Q, Zyp = 4 Q, Z15=Zo1= 3 Q.
Compute th%gﬁ sparameters and’ AB@D parameters. (10 Marks)
% % % %k k
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